

Notes of Chapter 15 Investment Return and Corporate Strategy
The source of good projects (p. 458)

Good projects, as we have described them both here and in earlier chapters, earn returns higher than their required returns. They earn positive net present values for the firms investing in them and increase firm value. In this section, we consider two issues relating to good investment. First, we argue that no firm should be able to consistently earn excess returns on investments in a truly competitive product market. Consequently, we examine the potential barriers to entry in product markets that allow firms to earn excess return on existing investments. Second, we look at how a firm can create new barriers to entry and augment existing competitive advantages, thus ensuring that future investments will continue to make positive excess returns. 
Comments: A firm can make higher rate of return by making the market less competitive and less efficient. 

A key requirement for the existence of a good project is the creation and maintenance of barriers to new or existing competitors taking on equivalent or similar projects. These barriers can take different forms, including economies of scale, cost advantages, capital requirements, product differentiation, access to distribution channels, and legal barriers.  

Economies of scale
Consider a company like Wal-Mart, whose success at discount retailing has been well documented. Starting with a few stores in Arkansas in the early 1980s, Wal-Mart became the largest retailer in the world by mid-1990s, in terms of total revenue. Wal-Mart made extraordinary returns from its strategy of opening huge retail stores that offer a wide range of products at the lowest prices. It was able to preserve these returns over an extended period because competitors with smaller stores were unable to match Wal-Mart’s prices and make equivalent returns. 
Comments: One of its most important strategies is to set up large discount stores in small communities. The early entry of one large store in a small community preempts the entry of other big stores. The resulting local monopoly ensures high level of profit. Since the value of information is positively related to scarcity, a player adopting a superior strategy will keep quiet about it. To keep a low profile, Wal-Mart avoided opening new stores where Sears and K-mart already had existence. This gave other giant retailers the impression that Wal-Mart was not very competitive. Hence other retailers will be less likely to imitate the strategies of Wal-Mart. In fact, the strategy of local monopoly in small rural communities was not copied by other giant retailers such as Sears and Kmart for a long time for they thought small communities are too small markets for big players. The key for Wal-Mart’s success is not the idea of huge discount stores, which many others were doing exactly the same thing. It is the ability to achieve local monopoly in small communities and keep its profile low for a long time. The same is true for Microsoft. For many years, Microsoft kept repeating the message that its phenomenal high growth was “temporary”. 
Here we learn two things. First, products with lower number of producers are of high value. Second, information only known to few people are of high value. As for economy of scale, everyone knows. But it is difficult to achieve. Of course, some countries or areas have natural advantages over others. For example, USA has big advantage of economies of scale than Canada. 
@@@@@

Size alone does not guarantee that any company will continue to earn excess returns on projects, since large companies may compete with one another for available projects and may consequently drive down the returns on these projects. Consider the automotive sector, where economies of scale are associated with producing cars. The strong competition among both domestic and foreign manufacturers for the automobile market has driven down the returns earned by these manufacturers on their projects.
Comments: Why Wal-Mart can reap profit in scale economy while car makers cannot? The answer is actually quite simple. Wal-Mart is a US company while the best auto companies are Japanese companies, such as Toyota. When Japanese auto companies tried to reap their profit from scale economy, US government forced Japanese firms to adopt “voluntary” export restraint to curb their economy of scale. By curbing the potential of best players, the auto market becomes extremely competitive, which drives down profit margin. In auto market, just like in softwood lumber market, political power is the most important factor in determining economic fortune. Imagine Wal-Mart has to adopt “voluntary” sales quota. How it will affect Wal-Mart’s profit? 

Cost Advantages 

For example, in the late 1980s, Southwest Airlines established a cost advantage over its larger competitors, such as American and United Airlines, by using nonunion employees. 

Comments: As a company becomes immensely profitable, the pressure to distribute more wealth to its employee will increase over time. This is why many large firms become unionized. Wal-Mart has successfully defeated many attempts of union drive among its stores by using hard ball tactics. For example, when a Wal-Mart store in Quebec unionized, Wal-Mart simply closed the door, thus deterring future attempts to unionize in Wal-Mart. Wal-Mart also fired many union activists in its stores. In a word, as a firm becomes wealthy, it will get harder and harder to resist the rise of employment pay. Therefore, cost advantages are often temporary. 
Capital requirements

Some businesses require such large investments that they discourage new entrants, even though projects in these businesses may earn excess returns. For example, assume that Boeing has high-return projects in the commercial aircraft business. The existence of these investments would normally attract competitors, but the huge initial investment needed to enter the business allows Boeing to continue to earn these high returns. Its immunity from competition is not permanent, however. Airbus Industries, formed and financed by the European countries in response to Boeing’s dominance of the business prior to 1980, eventually was able to compete with Boeing and drive down the excess returns. 
Comments: Here we see again government intervention is the key to get established in high profit margin business. 

@@@@@

Note that when relatively few firms compete in a business and the capital  requirements for new investments for new entrants are prohibitive, the chances of collusion among existing firms to keep their returns high will increase, since they do not have to fear the threat of new competitors. The chances of colluding successfully will decrease when new firms can enter s business easily. 

Comments: 

Empirical evidences show that large firms and small firms behave differently in the market. In this section we will show that the theory of firm presented in the last section offers clear understanding of the market patterns that have not been adequately modeled by the existing theories. For simplicity, we will base our analysis on a recent work on gasoline retail price movement in Canadian market (Eckert, 2003). 

It was observed that the existence of small independent firms in local markets is often associated with high level of price volatility while markets served only by major brands exhibit price stability. This pattern has not been incorporated into formal modeling. For example, in Eckert (2003) small and big firm "are used here to refer to presence in the downstream only, and will not be reflective of capacity constraints" (Eckert, 2003, p. 160, note 14). Therefore what the existing models is about how the size of local market share affects firm behavior. This is not related to the observed pattern that the existence of independent firms causes price volatility. As Eckert (2003) observed, one shortcoming of the current theories is that marginal costs are constant. Since no extra insights are derived from the cost structure of firms, production is often assumed to be costless for simplicity. In our theory, the influence of fixed cost and uncertainty on marginal cost is explicitly represented by an analytical function, which makes the model more realistic. From Figure 1, high fixed asset entities, the brand name firms, are more sensitive to uncertainty and prefer stable prices while low fixed asset entities, the small independent firms, are more willing to adopt opportunistic behaviors. This explains the existence of small independent firms cause price volatility.

In the following we will work out an example to explain the pricing strategies of different firms. Suppose there are two gas stations, one from a small independent firm and the other from a large branded firm, in two cities. Each gas station sells 30 unit of gasoline daily and gasoline price of 1. Large firm has a fixed cost of 5 and small firm has a fixed cost of 2. We further assume the discount rate is 12% per year and the duration of the fixed assets of both firms are 15 years. If the usual uncertainty rate is 35%, the marginal cost for two gas stations are 0.748911 and 0.549137 respectively, calculated from (5). If each gas station decided to start and aggressive price competition to increase daily volume to 50, the uncertainty rate will increase to 55%. From (5), marginal cost for both gas stations will become 0.846708 and 0.739794 respectively. The profit difference of the gas stations from the small independent firm will be 
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While the profit difference of the gas station from the large firm will be
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From the computation, we can see that gas station from small independent firms will benefit from aggressive pricing competition while large firms will not. This is why large firms often engage in price collusion while small firms are more aggressive in price competition. 

While our example concerns about a particular market, the same understanding can be applied to much broader context of corporation and conflict. From Figure 1, individuals, institutions, and nations with large amount of assets prefer stable environment of corporation while those have little amount of assets have little incentive to corporate. Therefore it is in the areas of where wealth level or right level that is most uneven we witness the greatest amount of conflict or competition. 

The existing theories do not offer an understanding under what kind of market conditions, small independent firms are likely to persist and what kind of market will be dominate by established major brands. In Table 2 of Eckert (2003), which is reproduced here as Table 1, cities were listed according to the level of gasoline price volatility and it was shown that price volatility was highly associated with the existence of small independent firms. However, no reason was given why some cities have more small independent firms than others. From our theory, small firms thrive in volatile environments. Toronto and other Ontario communities have experiences huge change of population, housing prices and other things, which foster a favorable environment for small firms. Cities in Atlantic and prairie are stagnant, which make it difficult for small firms to get established. This is consistent with patterns in ecological systems where low fixed cost r strategists thrive in disturbed environments and high fixed cost K strategists dominate in stable environment. (Colinvaux, 1978). 

Tables 

Table 1: Some Canadian cities listed according to the gasoline price volatility

	Toronto

	London

	Windsor

	Sudbury

	Montreal

	Ottawa

	Calgary

	Edmonton

	Quebec City

	Sault Ste. Marie

	Thunder bay

	North Bay

	Vancouver

	Regina

	Halifax

	Timmins

	St. John

	Winnipeg

	St. John’s


Production Differentiation
1. Extensive advertising and promotion

2. Technical expertise

3. Better service

Access to Distribution Channels

Comments: All above need to raise fixed costs to firms. 
Legal and Government Barriers

Product Patents

Government restriction on entry

Comments: Monopoly increase product value. However, there is a cost in obtaining monopoly. R&D is often costly. Obtaining government license is also costly. In a competitive market, there is no reason to expect the cost of gaining monopoly can be sufficiently offset by higher value of product for higher rate of return. 
One of the primary reasons Microsoft was able to dominate the computer  software market in the early 1990s was its ability to increase the investment needed to develop and market software programs. (p. 462) 

Comments: To increase fixed cost in a large market. 

Level of entry barrier and profitability

In neoclassical economics, regulation is justified when there is a “market failure”. From this theory, it can be shown that regulation is largely driven by industries themselves to keep high rate of returns. We will use an example to illustrate how the level of regulation is influenced by sizes of the markets. 


From the value theory, the unit value of a product is 
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where b is the number of producers and P is the abundance of the product. Suppose the market size is M. MP is the number of customers. Then on average, each producer’s revenue is 
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To produce the product, it takes fixed cost and variable cost. The value of a product will increase if the number of producers can be reduced. Since monopoly often brings a lot of legal actions, we assume companies will aim to achieve duopoly by raising fixed costs with regulatory or other means.  


Suppose the cost structure of each company is the same. Then the total cost of each firm is 
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where K is the fixed cost and C is the variable cost, which is defined by the percentage of the product value. The rate of return for each company is




[image: image6.wmf])

)

log

(

)

log

(

ln(

P

b

MP

C

K

P

b

MP

b

b

-

+

-





Table (3.1) displays the relation among fixed costs, market sizes and returns of companies where there are three or two companies producing the same product. Variable cost is computed from (3.5), assuming S =1, r= 0.03, T = 25, σ = 0.55. Here variable cost means the percentage of the value of the product. P is assumed to be equal to 0.5. 


If possible, firms will raise fixed costs so that three competing firms will lose money on average. This will allow only two firms in the market. Then we calculate the average returns for these two firms. As can be shown from Table 3.1, as market sizes increase, the level of fixed costs needed to maintain duopoly increases as well, so are the rates of return. This indicates that leading companies in industries with large market size often have strong incentives to help introduce costly regulatory requirements for their products to reduce the number of competitors to gain higher rate of return. This is why industries of vital importance to most families, such as education, health care and pharmaceutical industry, are heavily regulated. In fact, primary and secondary educations in most countries have achieved total monopoly. In a later chapter, we will discuss why trade is mostly free, while migration, which of much larger economic impact, is highly regulated (Hamilton and Whalley, 1984; Moses and Letnes, 2004). 

	Market size
	200
	400
	800

	Fixed cost
	5.55
	16.8
	44.75

	Variable cost
	0.737
	0.601
	0.4676

	
	
	
	

	Revenue to each firm when there are three firms
	21.03
	42.06
	84.124

	Rate of return
	0.000
	0.000
	0.000

	
	
	
	

	Revenue to each firm when there are two firms
	50
	100
	200

	Rate of return
	0.165
	0.263
	0.3692


Table 3.1: Required levels of fixed cost to achieve duopoly with different market size 

The above calculation also explains why biological and chemical weapons are banned by international treaties while nuclear weapons, which can cause much more destruction than chemical weapons, are not. Biological and chemical weapons, which are sometimes called poor men’s nuclear weapons, are cheaper to make. If these weapons are not banned, many people can make them, which will reduce the value of weapons of mass destruction. To maintain the high value of such weapons, international treaties, which are generally initiated by leading political powers, banned weapons of mass destruction that are cheap to make. 

Underperforming Projects: Reasons and Response
Bias in Investment Analysis

Substantial evidence has been found of a positive forecasting bias in investment analysis, suggesting that some bad projects will be accepted because of optimistic estimates of cash flows. … This bias often stems from the ways in which investment analysis is done. A project advocate is often responsible for evaluating the forecast and making the investment decision. 
Avoiding Bad Investments (p. 473)
Firms can organize the investment analysis process to reduce the likelihood of conceptual errors and bias in the process. For instance, since bias seems to be greatest when analysis and decision making are combined, firms should consider separating the two roles. 
Comments: While analysis distant from the center of decision making involves less bias, it also lack access to valuable information. 
Firms should hold managers responsible for their forecasts on investments. The analysis of existing investments and the comparisons of actual cash flows generated by an investment to the cash flows anticipated at the time the investment was initiated is an effective way of holding managers responsible for their forecasts. It is also a good way of highlighting problems or biases in the investment process.
Comments: Who are “Firms”? If managers could be held responsible for their errors in choosing the wrong projects, their bosses could be held responsible for choosing the wrong managers. It is often not in the interest of top bosses to dig too deep. Otherwise, the chain of responsibility can reach the very top. Usually, managers propose projects that please to the heart of their bosses to get favorite appraisal from the top. In a real world, it is difficult to unentangle responsibilities. 
The existence of external factors that firms cannot control implies that they cannot avoid investing in projects that earn less than expected. (p. 475)
Comments: However, firms can determine size and flexibility of investments depending on their understanding of the level of uncertainty of external factors. 

For competitive purpose, firms may invest in projects with low rate of return. For example, IE doesn’t bring Microsoft any revenue. But it squashed a rival, Netscape. In general, increase your market size reduce the scale economy of your rivals. 
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